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l Complete the crossword puzzle. Write each time a different way.

Across (—)
1 It five in the morning. It's five ApA
4 It's 4:15, It's a quarter Q-_Q(t:' four
7 Iv's twelve an. It's Besn Yidn gt
8 It's 8:00 r.m. It's eight in the ©u€nvy

9 It’s twelve pan. IU's poon

Down (l)
2 It's 7:00 am. It's seven in the thactirg

3 It's 3:30. It's three Lhorky
4 It's 4:00 =m. It's four in the al Lesnon
5 It's 1:15.1t's one- ,L‘U e
6 It's 3:45.1ts aquiizc to four

10 It’s 11:00 pw. [t's eleven at n_\_gt,\.\
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